B R-TAD MR

<?xml version="1.0"?=

- <LandXML language="English" readCnly="false" version="1.2" time="20:15:11" date="2018-03-02"
xsi:schemalocation="http:f fwww._landxml.org/schema/LandXML-1.2
http:/ fwww.landxml.org/schema/LandXML-1.2 fLandXML-1.2.xs5d" xmins:xsi="http:/ /fwww.w3.0org /2001 /XMLSchema-
instance" xmilns=" http:,f’,.l’u/\_ry\rw.la ndxml.org/schema/LandXML-1_.2">

- <Units= (2)

<Metric directionUnit="decimal degrees"|angularUnit="decimal degrees" diameterUnit="millimeter" pressureUnit="milliBars
temperatureUnit="celsius" volumeUnit="cubicMeter"|[linearUnit="meter" [arealnit="squareMeter"/=
</Units> ® N @

g

- [«CoordinateSystem verticalDatum="T.P"[fileLocation="AutoCAD Map Zone Name"|horizontalCoordinateSystemName="9(X,¥)"|
3

[ |'|DrizontalDatLIm="]GDZI]11ﬁ|DchktCDl:lez"PRO]CS["JGDZDII—DQ",GEOGCS["LL—JGDZ{]11—ITRFDS",DATUH
["JGD2011",SPHEROID["GRS1980",6378137.000,298.25722210]],PRIMEM["Greenwich",0],UNIT
["Degree",0.017453292519943295]], PROJECTION["Transverse_Mercator"],PARAMETER
["false_easting”,0.000],PARAMETER[ "false_northing”,0.000], PARAMETER["scale_factor",0.999900000000], PARAMETER
["central_meridian",139.83332333333329],PARAMETER[ "latitude_of_origin",26.00000000000000],UNIT
["Meter",1.00000000000000]]" epsgCode="6677" desc="Japan Geodetic Datum 2011 Plane No. 09">

- <Feature=
[<Property value="0.0000" label="differTP"/> |
< /Feature> 7

=/CoordinateSystem=
<Project name="C:\Users\matsu\ Dropbox\ Data\i&§l, 1\ OCF\201802070CF_LandXMLfER\ 20180302 F 55
Tempi\LandXMLOutPutTest20180302.dwg">

- < Feature>
[«Property value="MlitLandXmlVer.1.1" label="applicationCriterion"/>|
< /Feature=> )

Lot

=/Project=
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